P2¥FE FrvITRE 10/27(E K&(

O »

1. ®o2o0HARBREFRTS 5,
1) 2o00EMBVPERTHAILE, LH=% .
Ay E
ﬁh 2 ’C 2‘1'&&
2) #MBC, BPQOE S FEENA cm C™10cm~ D

3) £B, ZROKE SZZNENTED
(D) -@LB-% 14, (2@ LR 42 K]

vty £/, 2oL E AV

2. Ro=faFopT, GHZZAREIERE Ehd, =%
(&R - Z&ff45 2 7]

7oA S tE 2 v 2o

<Challenge!! > (+2 /57°2)

O WEo37AOKESOMERD L -
(1) @

{

N

@  HoMo XS wMATABCD 2 A 5, £ ABC OS54 % BF,

ZADCH SR BF b EE2EET S,
ZBAD=68°, £BCD=82""k %, <DEF®KEZ2KD L,
R FEERA L F )




<HHE> 1ML E, O bERTIS, BETOHICHS

1. ADE® X 52, MM ABCD & MFE PQRS R
&Y, MK ABCD=MAFPQRS THb, KD A dem
BRI . ~D S
(1) MPSHOEIZRD L,
(2) ZQORESERD X,
(3) LSOAEZEKD L, B e © B Q

2-K®H®¢T,%@&Eﬁ%ufntfﬂ#oﬁ%f%ﬁofﬁ%cit,%@&%E@ot%

GE SR AT
A

f? @ ® ©)) @ &
A 3; ‘F o 24 R =

> = = D
1 ¥ r 7 ~ * :E]%
k3 3 % F > » =

% ® 5 % B x P
= - j LJ - = 4 :
3 7 3R « s H F
e = + > 5
: % N Z Y o
@ % E s
g) = |
o @® ® ® ® @ . =
= % 3 =

«é = ?ﬁ %® 11 °

z 7= i G pe .

W \ -

P I 2 % % e ’f

<! ? B [N + k ®

: 2 . > %

= =4 = +

> 7 3 A

B -
/100 4 ot
5

10/26




K&(

P2¥FE FrvITRE 10/27ERE

S

BN IAWHE R0

@

BEEULLDNMD o0

=
)

W&

18 ¥

BUSH MDY AN

Moo~ P

2R &
o n udiiA

RS

MAN LW

Biodmw L gD

B e

R o

£ L S NS

LS REwD DY

AAN = %

=E X ™=
RAYWHE ¢ e Wume R

= 3

B e B K



info
テキスト ボックス

info
テキスト ボックス


